

(2b) 1) $\lim_{z \rightarrow z_0} f(z) = \lim_{(x,y) \rightarrow (x_0,y_0)} u(x,y) + i \lim_{(x,y) \rightarrow (x_0,y_0)} v(x,y)$ IF BOTH LIMITS ON THE RIGHT EXIST.

PF LET $\lim_{(x,y) \rightarrow (x_0,y_0)} u(x,y) = a$ AND $\lim_{(x,y) \rightarrow (x_0,y_0)} v(x,y) = b$, AND LET $\epsilon > 0$.

THERE IS A $\delta_1 > 0$ SUCH THAT $|u(x,y) - a| < \frac{\epsilon}{2}$ IF $0 < |(x,y) - (x_0,y_0)| < \delta_1$, AND

THERE IS A $\delta_2 > 0$ SUCH THAT $|v(x,y) - b| < \frac{\epsilon}{2}$ IF $0 < |(x,y) - (x_0,y_0)| < \delta_2$,

IF $\delta = \min\{\delta_1, \delta_2\}$, THEN $0 < |z - z_0| < \delta \implies$ IF $w = a + bi$,

$$|f(z) - w| \leq |\operatorname{Re}(f(z) - w)| + |\operatorname{Im}(f(z) - w)| = |u(x,y) - a| + |v(x,y) - b| < \frac{\epsilon}{2} + \frac{\epsilon}{2} = \epsilon.$$

THEREFORE $\lim_{z \rightarrow z_0} f(z) = w = a + bi$.

2) IF $\lim_{z \rightarrow z_0} f(z) = w = a + bi$, THEN $\lim_{(x,y) \rightarrow (x_0,y_0)} u(x,y) = a$ AND $\lim_{(x,y) \rightarrow (x_0,y_0)} v(x,y) = b$.

PF LET $\epsilon > 0$. SINCE $\lim_{z \rightarrow z_0} f(z) = w$, THERE IS A $\delta > 0$ SUCH THAT IF $0 < |z - z_0| < \delta$, THEN $|f(z) - w| < \epsilon$.

THEN $0 < |z - z_0| < \delta \implies |u(x,y) - a| = |\operatorname{Re}(f(z) - w)| \leq |f(z) - w| < \epsilon$ AND

$$|v(x,y) - b| = |\operatorname{Im}(f(z) - w)| \leq |f(z) - w| < \epsilon,$$

SO $\lim_{(x,y) \rightarrow (x_0,y_0)} u(x,y) = a$ AND $\lim_{(x,y) \rightarrow (x_0,y_0)} v(x,y) = b$.

3) f IS CONTINUOUS AT z_0 IFF u AND v ARE CONTINUOUS AT $(x_0, y_0) = z_0$.

PF USING PARTS 1) AND 2), f IS CONTINUOUS AT z_0 IFF $\lim_{z \rightarrow z_0} f(z) = f(z_0)$

IFF $\lim_{(x,y) \rightarrow (x_0,y_0)} u(x,y) = u(x_0, y_0)$ AND $\lim_{(x,y) \rightarrow (x_0,y_0)} v(x,y) = v(x_0, y_0)$

IFF u AND v ARE CONTINUOUS AT (x_0, y_0) .

(11) LET $\Gamma = |z|$.

1) IF $\Gamma < 1$, THEN $\lim_{n \rightarrow \infty} n z^n = 0$ SINCE IF $\delta = \frac{1}{\Gamma} > 1$, THEN

$$\lim_{n \rightarrow \infty} |n z^n| = \lim_{n \rightarrow \infty} n \Gamma^n = \lim_{n \rightarrow \infty} \frac{n}{\delta^n} = \lim_{n \rightarrow \infty} \frac{1}{\delta^{n-1}} = 0 \text{ USING L'HOSPITAL'S RULE.}$$

2) IF $\Gamma \geq 1$, THEN $\lim_{n \rightarrow \infty} n z^n$ DOES NOT EXIST SINCE $\lim_{n \rightarrow \infty} |n z^n| = \lim_{n \rightarrow \infty} n \Gamma^n = \infty$

(BECAUSE $n \Gamma^n \geq n$ AND $\lim_{n \rightarrow \infty} n = \infty$).

THEREFORE $\lim_{n \rightarrow \infty} n z^n$ EXISTS IFF $|z| < 1$.

(12) IF $|z| > 1$, THEN $\lim_{n \rightarrow \infty} \frac{z^n}{n} = \infty$.

PF IF $\Gamma = |z|$, THEN $\lim_{n \rightarrow \infty} \left| \frac{z^n}{n} \right| = \lim_{n \rightarrow \infty} \frac{\Gamma^n}{n} = \lim_{n \rightarrow \infty} \frac{\Gamma^{n-1} \Gamma}{1} = \infty$ USING L'HOSPITAL'S RULE,

$$\text{SO } \lim_{n \rightarrow \infty} \frac{z^n}{n} = \infty.$$

(OR USE $\Gamma = 1 + c$ WITH $c > 0$, SO $\Gamma^n = (1+c)^n = 1 + n c + \frac{n(n-1)}{2!} c^2 + \dots$

AND THEREFORE $\frac{\Gamma^n}{n} > \frac{n(n-1)c^2}{2} = \frac{(n-1)c^2}{2}$ FOR $n \geq 2$, SO $\frac{\Gamma^n}{n} \rightarrow \infty$)

1.4 - (18)

SHOW THAT $f: A \rightarrow \mathbb{C}$ IS CONTINUOUS IFF $z_n \rightarrow z_0$ IN A IMPLIES THAT $f(z_n) \rightarrow f(z_0)$.PF \Rightarrow SUPPOSE THAT f IS CONTINUOUS ON A , AND LET $z_n \rightarrow z_0$ IN A .1) IF $\epsilon > 0$ IS GIVEN, THEN THERE IS A $\delta > 0$ SUCH THATIF $|z - z_0| < \delta$, THEN $|f(z) - f(z_0)| < \epsilon$ SINCE f IS CONTINUOUS AT z_0 2) SINCE $z_n \rightarrow z_0$, THERE IS AN $N \in \mathbb{N}$ SUCH THAT $n \geq N \Rightarrow |z_n - z_0| < \delta$,THEREFORE $n \geq N \Rightarrow |f(z_n) - f(z_0)| < \epsilon$, SO $f(z_n) \rightarrow f(z_0)$. \Leftarrow (USING THE CONTRAPOSITIVE)ASSUME THAT f IS NOT CONTINUOUS AT A POINT z_0 IN A ,THEN THERE IS AN $\epsilon > 0$ SUCH THAT FOR EVERY $\delta > 0$,THERE IS A $z \in A$ WITH $|z - z_0| < \delta$ AND $|f(z) - f(z_0)| \geq \epsilon$.IN PARTICULAR, FOR EACH $n \in \mathbb{N}$ THERE IS A $z_n \in A$ WITH

$$|z_n - z_0| < \frac{1}{n} \quad \text{AND} \quad |f(z_n) - f(z_0)| \geq \epsilon. \quad (\text{TAKING } \delta = \frac{1}{n})$$

THEREFORE $z_n \rightarrow z_0$, BUT $f(z_n) \not\rightarrow f(z_0)$.

CH. 1 RE - (4)

IF $z = a + bi$, $z^2 = 1 + i$ IFF $(a^2 - b^2) + 2abi = 1 + i$ IFF $a^2 - b^2 = 1$ AND $2ab = 1$.THEN $(a^2 + b^2)^2 = (a^2 - b^2)^2 + (2ab)^2 = 1^2 + 1^2 = 2$, SO $a^2 + b^2 = \sqrt{2}$.THEREFORE $2a^2 = 1 + \sqrt{2}$, SO $a^2 = \frac{1 + \sqrt{2}}{2}$ AND $a = \pm \sqrt{\frac{1 + \sqrt{2}}{2}}$; AND $2b^2 = \sqrt{2} - 1$, SO $b^2 = \frac{\sqrt{2} - 1}{2}$ AND $b = \pm \sqrt{\frac{\sqrt{2} - 1}{2}}$ (WHERE $ab = \frac{1}{2} > 0$).

$$\text{THUS } z = \sqrt{\frac{1 + \sqrt{2}}{2}} + \sqrt{\frac{\sqrt{2} - 1}{2}} i \quad \text{AND} \quad z = -\sqrt{\frac{1 + \sqrt{2}}{2}} - \sqrt{\frac{\sqrt{2} - 1}{2}} i$$

$$\text{OR } z^2 = 1 + i = \sqrt{2} \left(\cos \frac{\pi}{4} + i \sin \frac{\pi}{4} \right), \text{ SO}$$

$$z = \sqrt[4]{2} \left(\cos \left(\frac{\pi/4}{2} + \frac{2k\pi}{2} \right) + i \sin \left(\frac{\pi/4}{2} + \frac{2k\pi}{2} \right) \right), \quad k = 0, 1$$

$$\text{SO } z_0 = \sqrt[4]{2} \left(\cos \frac{\pi}{8} + i \sin \frac{\pi}{8} \right) = \sqrt[4]{2} \left(\sqrt{\frac{1 + \sqrt{2}}{2}} + i \sqrt{\frac{1 - \sqrt{2}}{2}} \right)$$

$$= \sqrt[4]{2} \left(\frac{\sqrt{2 + \sqrt{2}}}{2} + i \frac{\sqrt{2 - \sqrt{2}}}{2} \right)$$

$$\text{OR } z_1 = \sqrt[4]{2} \left(\cos \frac{9\pi}{8} + i \sin \frac{9\pi}{8} \right) = -\sqrt[4]{2} \left(\frac{\sqrt{2 + \sqrt{2}}}{2} + i \frac{\sqrt{2 - \sqrt{2}}}{2} \right)$$

$$\begin{aligned} \cos \frac{\theta}{2} &= \pm \sqrt{\frac{1 + \cos \theta}{2}} \\ \sin \frac{\theta}{2} &= \pm \sqrt{\frac{1 - \cos \theta}{2}} \end{aligned}$$

REMARK WE CAN ALSO WRITE THIS AS

$$z = \pm 2^{-3/4} \left(\sqrt{2 + \sqrt{2}} + i \sqrt{2 - \sqrt{2}} \right)$$

(2) LET $z = r e^{i\theta}$ WHERE $-\pi < \theta \leq \pi$, SO $z^2 = r^2 e^{i2\theta}$.

THEN $\text{LOG } z = \text{LN } r + i\theta$, AND $\text{LOG } z^2 = \text{LN } r^2 + i\theta'$, WHERE $-\pi < \theta' \leq \pi$ AND $\theta' = 2\theta \pmod{2\pi}$.

THEN $\text{LOG } z^2 = 2 \text{LOG } z$ IFF $\text{LN } r^2 + i\theta' = 2 \text{LN } r + 2i\theta$ IFF $\theta' = 2\theta$ IFF $-\pi < 2\theta \leq \pi$
 IFF $-\frac{\pi}{2} < \theta \leq \frac{\pi}{2}$. THEREFORE $\text{LOG } z^2 = 2 \text{LOG } z$ IFF $-\frac{\pi}{2} < \text{Arg } z \leq \frac{\pi}{2}$ IFF

z IS IN THE RIGHT HALF-PLANE OR z IS ON THE POSITIVE HALF OF THE IMAGINARY AXIS.

(6) $\sin z = \sqrt{3}$, SO $\cos^2 z = 1 - \sin^2 z = 1 - 3 = -2$ AND $\cos z = \pm \sqrt{2} i$.

THEN $e^{iz} = \cos z + i \sin z = \pm \sqrt{2} i + \sqrt{3} i = (\sqrt{3} \pm \sqrt{2}) i$,

SO $iz = \text{LOG}((\sqrt{3} \pm \sqrt{2}) i) = \text{LN}(\sqrt{3} \pm \sqrt{2}) + i(\frac{\pi}{2} + 2n\pi)$

AND $z = -i \text{LOG}((\sqrt{3} \pm \sqrt{2}) i) = \boxed{\frac{\pi}{2} + 2n\pi - i \text{LN}(\sqrt{3} \pm \sqrt{2})}$, WHERE $n \in \mathbb{Z}$.

(OR) $\sin z = \frac{e^{iz} - e^{-iz}}{2i} = \sqrt{3}$, SO $e^{iz} - e^{-iz} = 2\sqrt{3} i$ AND THEREFORE

$e^{iz} - 2\sqrt{3} i - e^{-iz} = 0$. THEN $e^{2iz} - 2\sqrt{3} i e^{iz} - 1 = 0$, SO

$e^{iz} = \frac{2\sqrt{3} i \pm \sqrt{-12 - (-4)}}{2} = \frac{2\sqrt{3} i \pm \sqrt{-8}}{2} = \frac{2\sqrt{3} i \pm 2\sqrt{2} i}{2} = (\sqrt{3} \pm \sqrt{2}) i$.

THEN $iz = \text{LOG}((\sqrt{3} \pm \sqrt{2}) i) = \text{LN}(\sqrt{3} \pm \sqrt{2}) + i(\frac{\pi}{2} + 2n\pi)$,

SO $z = -i(\text{LN}(\sqrt{3} \pm \sqrt{2}) + i(\frac{\pi}{2} + 2n\pi)) = \boxed{\frac{\pi}{2} + 2n\pi - i \text{LN}(\sqrt{3} \pm \sqrt{2})}$, WHERE $n \in \mathbb{Z}$.

(8b) $|z-1| = 2|z|$ IF WE LET $z = x + yi$, $z-1 = (x-1) + yi$ SO

$|z-1|^2 = 4|z|^2$ IFF $(x-1)^2 + y^2 = 4(x^2 + y^2)$ IFF

$x^2 - 2x + 1 + y^2 = 4x^2 + 4y^2$ IFF $3x^2 + 3y^2 + 2x = 1$ IFF

$x^2 + y^2 + \frac{2}{3}x = \frac{1}{3}$ IFF

$(x^2 + \frac{2}{3}x + \frac{1}{9}) + y^2 = \frac{1}{3} + \frac{1}{9}$ IFF

$(x + \frac{1}{3})^2 + y^2 = \frac{4}{9}$

THIS IS THE CIRCLE WITH CENTER $(-\frac{1}{3}, 0)$ AND RADIUS $r = \frac{2}{3}$.

REMARK WE CAN ALSO WRITE THE EQUATION OF THE CIRCLE

AS $|z + \frac{1}{3}| = \frac{2}{3}$.